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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635091939, 1
64635091940, 2

64535091941, 3
645350391942, 4

Question Number : 1 Question Id : 64635023422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535091939, 1
64535031340, 2
64835091941, =2
64535091942, 4

Question Number : 2 Question Id : 64635023423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535091942, 1
E4E350391944. 2
E4535091945. 3
64535091946, 4



Question Number : 2 Question Id : 64635023423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535091943, 1
645350391944, 2
64535091945, 3
E4E35039194E. 4

Question Number : 3 Question Id : 64635023424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

645350391947, 1
645350919458, 2
E4E350391949. 3
E4E35091950. 4

Question Number : 3 Question Id : 64635023424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535091947, 1
6453503919458, 2
64535091949, 3
E4E350391950. 4

Question Number : 4 Question Id : 64635023425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535091951, 1
64535091952, 2
64535031353 =
64535031354, 4

Question Number : 4 Question Id : 64635023425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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C4E25E091951.
64635091952,

E4535091953.
54535091954,
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Question Number : 5 Question Id : 64635023426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

64535091955, 1
645350391956, 2
E4E35031957. 3
E4E350391958. 4

Question Number : 5 Question Id : 64635023426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535091955, 1
64535031356, 2
64835091957, 2
4535091958 4

Question Number : 6 Question Id : 64635023427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

54535091955, 1
64535091960, 2
645350391961, 3
E453509196%2. 4

Question Number : 6 Question Id : 64635023427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535091955, 1
645350391960, 2
64535091961, 3
EAEZ5091962. 4

Question Number : 7 Question Id : 64635023428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350391963, 1
64535091964, 2
E4E35091965. 3
E4E3509196E6. 4

Question Number : 7 Question Id : 64635023428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35091963. 1
64535091964, 2
645350391965, 3
64535091966, 4

Question Number : 8 Question Id : 64635023429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535091967, 1
E4E35031968. 2
E4E35091969. 3
B4E35031970. 4

Question Number : 8 Question Id : 64635023429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35091967. 1
64535091968, 2
645350919645, 3
645350391970, 4

Question Number : 9 Question Id : 64635023430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

64535091971, 1
64535091972 2
64535031373 2
64535031374, 4

Question Number : 9 Question Id : 64635023430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535091971, 1
645350391972, 2
645350391973, 3
E4E350391974. 4

Question Number : 10 Question Id : 64635023431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

64535091975, 1
645350391976, 2
64535091977, 3
EAE35091975. 4

Question Number : 10 Question Id : 64635023431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350914975. 1
64535091976, 2
64535031977, 5
64535031375, 4

Sub-Section Number: 2
Sub-Section Id: 6463501154
Question Shuffling Allowed : Yes

Question Id : 64635023432 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635023433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35091975. 1
E4E35091980. 2
E4E35091981. 3
64535091982, 4

Question Number : 12 Question Id : 64635023434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350391983, 1
E4E350391984. 2
E4E350391985. 3
E4E35091986. 4

Question Number : 13 Question Id : 64635023435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535091987, 1
64535091988, 2
64535031389, =
64535031390, 4

Question Number : 14 Question Id : 64635023436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E350919591. 1
E4E35091932. 2
645350919583, 3
645350919394, 4

Question Number : 15 Question Id : 64635023437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535091995, 1
E4E35091996. 2
64535091997, 5
64535091998, 4

Question Id : 64635023432 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
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Sub questions

Question Number : 11 Question Id : 64635023433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535091979,
64535091980,
4835091981,
4535091982,

[ N

Question Number : 12 Question Id : 64635023434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535091983, 1
4835091934, 2
45350919385 =2
64535021986, 4

Question Number : 13 Question Id : 64635023435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hefta 3cael aun Har A S iU a9 AnY w1  AfyE 98 A8 2 B ssaum g

(1) oo 3carg Fi Az i A

(2)  HEAUF & A9F YH9FH YU = HaE A e
@)  afs Sweiies S 8

(4)  gafta Ienel va darsdi 4 e 4 S

Options:

4535091987, 1
64535091988, 2
64535031389, =
64535031390, 4

Question Number : 14 Question Id : 64635023436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E350919591. 1
E4E35091932. 2
645350919583, 3
645350919394, 4

Question Number : 15 Question Id : 64635023437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535091995, 1
4535091996, 2
645350391997, 5
64535031998, 4

Sub-Section Number: 3
Sub-Section Id: 6463501155
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635023438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

645350919399, 1
E4E35092000. 2
E4E350392001. 3
BAE3503200%2. 4

Question Number : 16 Question Id : 64635023438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535091999, 1
4825032000, 2
4535092001, 2
4535032002, 4

Question Number : 17 Question Id : 64635023439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
E4E35032003. 1

E4E350392004, 2
E4E350392005. 3
EAE35092006. 4

Question Number : 17 Question Id : 64635023439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4525092002 1

E4E350392004. 2
E4E35092005. 3
BAE35032006. 4



Question Number : 18 Question Id : 64635023440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635092007 1
435092008, 2
E4E25092009. 2
4235092010, 4

Question Number : 18 Question Id : 64635023440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535032007, 1
E4E35032008. 2
4535032009, 5
64535032010 4

Question Number : 19 Question Id : 64635023441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
64535092011, 1

EAEZ5092012. 2
E4E35032013. 3
B4E35032014. 4

Question Number : 19 Question Id : 64635023441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35092011. 1
BAE35092012. 2
64535032013, 3
64535032014, 4

Question Number : 20 Question Id : 64635023442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535092015, 1
64535032016, 2
64535092017, 3
EAEZ5032015. 4



Question Number : 20 Question Id : 64635023442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535092015, 1
E4E3503201E6. 2
EAE35032017. 3
B4E350320158. 4

Question Number : 21 Question Id : 64635023443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

645350920145, 1
64535032020, 2
645350392021, 3
EABE35092022. 4

Question Number : 21 Question Id : 64635023443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535092019, 1
E4EZ5092020. 2
B4E35092021. 3
BAEZS092022. 4



Question Number : 22 Question Id : 64635023444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

E4E35092023. 1
BAE35092024. 2
64535032025, 3
E453509202E. 4

Question Number : 22 Question Id : 64635023444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535092023, 1
64535032024, 2
64835092025 2
4535092026, 4

Question Number : 23 Question Id : 64635023445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

645350392027, 1
EAE35092028. 2
EAE350392029. 3



EAE35032030. 4

Question Number : 23 Question Id : 64635023445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

645350392027, 1
E4535092028. 2
EAEZ5092029. 3
EAE35092020. 4

Question Number : 24 Question Id : 64635023446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535092021, 1
64535092032, 2
E4E350392033. 3
EAE35092024. 4

Question Number : 24 Question Id : 64635023446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535032031, 1

E4EZ5032032. 2

E4E25032033. 3

64535032034 4

Question Number : 25 Question Id : 64635023447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350392035, 1
EAE35032036. 2
EAE35032037. 3
EAE35092038. 4

Question Number : 25 Question Id : 64635023447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535092035, 1
64535032036, 2
64535032037, 2
E4E350320328. 4

Question Number : 26 Question Id : 64635023448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



EAE35092029. 1
64535032040, 2
64535032041, 3
64535032042, 4

Question Number : 26 Question Id : 64635023448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535092039, 1
E4E35032040. 2
4535092041, 2
4535022042, 4

Question Number : 27 Question Id : 64635023449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535092043, 1
E4E35032044, 2
E4535032045. 5
64535032046, 4



Question Number : 27 Question Id : 64635023449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
4535092043 1

EdEZ5092044, 2
E4E35092045. 3
BAE3509204E. 4

Question Number : 28 Question Id : 64635023450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35092047. 1
64535092048, 2
64535092049, 3
64535032050, 4

Question Number : 28 Question Id : 64635023450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gl ¥ fada aife o aven 2 cfes o e @ AF 21 S gefiv 8 dan 2 iR Al o
Diel 2| BH T | wed el A 27

(1) ™

@ =
(3) ferdia
CV

Options:

4835092047, 1
4535092048, 2
64535032049, 5
4535032050 4

Question Number : 29 Question Id : 64635023451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35092051. 1
BAE35092052. 2
B4535032053. 3
64535032054, 4

Question Number : 29 Question Id : 64635023451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
g2 Td @l WHT |rar 20,
4 |1 THHE & 20 |
el fou e, Reen € dgmda 4 Iugad e Figd gk $i vgam fifsg )
(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4235092051, 1

EAE35092052. 2
B4535032053. 3
E4535092054. 4

Question Number : 30 Question Id : 64635023452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350392055, 1
E4E35032056. 2
EAE35032057. 3
E4E35092058. 4

Question Number : 30 Question Id : 64635023452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535092055, 1
64535032056, 2
64535092057, 3
EAEZ5092058. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501156
Question Shuffling Allowed : Yes

Question Id : 64635023453 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635023454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4E35092059. 1
BAE35032060. 2



EAE35092061. 3
BAE3503Z2062. 4

Question Number : 32 Question Id : 64635023455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

EAE35092063. 1
E4E535032064. 2
64535032065, 3
E453509206E. 4

Question Number : 33 Question Id : 64635023456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

B4E350920687. 1
64535032068, 2
E4535092069. 3
EAEZ5032070. 4

Question Number : 34 Question Id : 64635023457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535092071, 1
E4535092072. 2
EAEZ5092073. 3
EAEZ5032074. 4

Question Number : 35 Question Id : 64635023458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835092075, 1
E4E35092076. 2
4535032077, 5
4535032078, 4

Question Id : 64635023453 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635023454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535092059, 1
64535032060, 2
64535032061, =
4835032062 4

Question Number : 32 Question Id : 64635023455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535092063, 1
45350920684, 2
64535032065, 5
4535032066, 4

Question Number : 33 Question Id : 64635023456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535092067, 1
4835032068, 2
4535092089 2
4535032070, 4

Question Number : 34 Question Id : 64635023457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535092071, 1
64535032072, 2
4835032072 2
4535092074, 4

Question Number : 35 Question Id : 64635023458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535092075, 1
64535032076, 2
64535032077, 2
4835032078, 4

Sub-Section Number: 5
Sub-Section 1d: 6463501157
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635023459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635092079, 1

E4E35092080. 2
EAE35032081. 3



EAEZIS032082. 4

Question Number : 36 Question Id : 64635023459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4EZE092079.

EAEZ50392080,
EAE35092081.
BAEZS092082,

[ N

Question Number : 37 Question Id : 64635023460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35092083. 1
64535092084, 2
B4535032085. 3
645350320586, 4

Question Number : 37 Question Id : 64635023460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
4525092083 1

EAE35032084. 2
B4E35092085. 3
BAE35032086. 4

Question Number : 38 Question Id : 64635023461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35092087. 1
B4E35032088. 2
64535032085, 3
64535032030, 4

Question Number : 38 Question Id : 64635023461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U L U 2 Sl ST Yol AU w0 wie J Al sfafafiat sasniia w1

g S 21

(1)  srqifar facen (2) FH A

(3)  wELHEA 4) uf amE



Options:

64535092087, 1
4835032088, 2
4535092089 2
64535032090, 4

Question Number : 39 Question Id : 64635023462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503920391, 1
64535092032, 2
E4EZ50920383. 3
EAE350920354. 4

Question Number : 39 Question Id : 64635023462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535092091, 1
64535032092, 2
64535032093, =
64535032094, 4

Question Number : 40 Question Id : 64635023463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E350392085. 1
EAE350320396. 2
BAE35092097. 3



EAE350320395. 4

Question Number : 40 Question Id : 64635023463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535092095, 1
64535032096, 2
64535032097, 2
E4E35032098. 4

Question Number : 41 Question Id : 64635023464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

645350920845, 1
64535092100, 2
64535092101, 3
E4E35092102. 4

Question Number : 41 Question Id : 64635023464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535092099, 1
64535092100, 2
64535032101, =
64535032102, 4

Question Number : 42 Question Id : 64635023465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

4535092103 1
64535022104, 2
64535032105, =
64535032106, 4

Question Number : 42 Question Id : 64635023465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535092103, 1
4835092104, 2
4535092105 2
64535032106, 4

Question Number : 43 Question Id : 64635023466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E35092107. 1
64535092108, 2
64535092109, 3
64535092110, 4

Question Number : 43 Question Id : 64635023466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535092107, 1
64535032108, 2
64535032109, =
64535032110, 4

Question Number : 44 Question Id : 64635023467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35092111.1
EAE35092112. 2
E4E35092113. 3
64535092114, 4

Question Number : 44 Question Id : 64635023467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635092111, 1
64535032112, 2
64535032113 2
64835092114 4

Question Number : 45 Question Id : 64635023468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64635092115, 1
648350392116, 2
64535092117, 5
64535092118, 4

Question Number : 45 Question Id : 64635023468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64635092115, 1
648350392116, 2
64535092117, 5
64535092118, 4

Question Number : 46 Question Id : 64635023469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535092119. 1
E4E35092120. 2
B4E35092121. 3
BAE35092122. 4



Question Number : 46 Question Id : 64635023469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
452509211591

E4E35092120. 2
B4E35092121. 3
BAE35092122. 4

Question Number : 47 Question Id : 64635023470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

645350921221
EdE35092124. 2
E4E35092125. 3
BAE35092126. 4

Question Number : 47 Question Id : 64635023470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

64535092123, 1
64535092124, 2
64535092125 3
EAE3509212E6. 4

Question Number : 48 Question Id : 64635023471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
646350921271
64635092125, 2

64535092129, 3
64535092130, 4

Question Number : 48 Question Id : 64635023471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4EI5092127.

EAE3509212E.
EAE35092129.
E4E35092130.

[ N

Question Number : 49 Question Id : 64635023472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535092131, 1
64535032132, 2
64835092122 2
4535092124 4



Question Number : 49 Question Id : 64635023472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635092151, 1
645350322132 2
64535032133 2
64535032134 4

Question Number : 50 Question Id : 64635023473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35092135. 1
E4E35092136. 2
E4E35092137. 3
64535092128, 4

Question Number : 50 Question Id : 64635023473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ferferfiga | 9 f9-o1 Fu gaa fGwE o 98 =1 8 s s 27
(1)  wrefae SEIEH] 6 ~gHad 3T
(2)  WrHaH SEIEA] F AT T F o 3w
@)  wepfas goreE =g uan a3 wisss 6 difewi % fog sueea @)
(4) A9 vl gEeAl w1 v f o difedl % fag adam s
Options:
64635092135, 1
64635092136, 2

64535092137, 3
E4E35092138. 4

PART 11 Maithili

Section Id : 646350482

Section Number : 2

Section type: Online
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Number of Questions: 96
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Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 6463501158
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635023474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fiasrgr=e’ T sfafza ofy
(1) sifadivan
(2) <TaqH
(8) SiiET =
(4) ==l =

Options:

64535092139, 1
64835092140 2
4535092141, 2



EAE35092142. 4

Question Number : 51 Question Id : 64635023474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FiasE=E T sttt ofy

(1) ifadeat

(2) ©AC™

(8) Sia =

(4) ==t =

Options:

64535092139, 1
64535032140 2
648350392141, 2
64535092142, 4

Question Number : 52 Question Id : 64635023475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘ST AT A B
ek T 9 a ol
ufz aidie i afy

(1) femafa

(2) Tifa=em

(8) IHMfd

(4) @

Options:

64535092143, 1
64535032144 2
64535032145 =
4835092146 4

Question Number : 52 Question Id : 64635023475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘ST AT S B
=Tk 90 19 Fd Sl

ufz uidier =i afy
(1) faemafa
(2) Tifa=g™
(3) 3ATAd
(4) @A

Options:

64535092143, 1
64535032144 2
64535032145 =2
4835092146, 4

Question Number : 53 Question Id : 64635023476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FOITH HTA-ATATH JUH S

W et
(2) ‘o

(8) ‘gt wfoms
(4) Fg-a@d
Optons:

E4E35092147. 1
E4E35092148. 2
B4E35092149. 3
64535092150, 4

Question Number : 53 Question Id : 64635023476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOTH HTeA-SATATH qUH S -
1) gemmatah
(2)  ‘Forn
(8) ‘wewraeht afom'y
(4) Zg-adiH
Options:

E4E25032147. 1
E4B25032148. 2



E4E35092145. 3
64535092150, 4

Question Number : 54 Question Id : 64635023477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST T ferE Bl

(1) ==ram
(2) TS TR
(3) wTEE™

(4) fichr v’

Options:

64535092151, 1
64535032152 2
648350392152 2
4535092154 4

Question Number : 54 Question Id : 64635023477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SR TRy fere B

(1) ==1 =

(2) T ATEH

(3) deIg™

(4) Hocher ST

Options:

4635092151, 1
64535032152, 2
64535032153 =
64535032154 4

Question Number : 55 Question Id : 64635023478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

witg-ites o foae- afs

(1) goEm=m
(2) HawE =

(3) qr=fe ey ‘e’

(4) v 3 G’
Options:



E4535092155. 1
64535092156, 2
64535092157, 3
645350392158, 4

Question Number : 55 Question Id : 64635023478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
wiftg-ites @eam fere 3%

(1) goam=m

(2) Hiamm =

(3) qrafe g ‘e’

(4)  wamor 7 G’

Options:

64535092155, 1
64535032156, 2
64535032157, 2
64835092158 4

Question Number : 56 Question Id : 64635023479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TATEE A ® T HA B
(1) e o=
(2) Tz g™
(3) gIwITd ATIEH

(4) T clciq™

Options:

64535092159, 1
64535032160 2
64535032161, =
4835092162 4

Question Number : 56 Question Id : 64635023479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TATEE SEEE YU HA B
(1) e aree™
(2) TgTd 2@
(8) EwET TS

(4) TEHIE ACIEH

Options:

64535092159, 1
48350392160, 2
4535092161, 2
4535032162, 4

Question Number : 57 Question Id : 64635023480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TS Facl ol 11

(1) Ferasw g

(2) WRTRETh N

(3) TR M

(4) =TTEhes TN

Options:

4635092163, 1
64535032164, 2
64535032165, =
64535032166, 4

Question Number : 57 Question Id : 64635023480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HeTehlcleh had Td 219
(1) Feras g0

(2) TWETHEETE I
(8) e N

(4) -Tcshes TN
Options:
64535092163, 1
4835032164, 2
4535092165 2
64535032166, 4



Question Number : 58 Question Id : 64635023481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
b
‘Thfsren fifEt's gem I 99

(1) e

(2) ZH
(3) Hamge

(4) STYH
Options:
64535032167, 1
64535032168, 2
645350921649, 2
64E35092170. 4

Question Number : 58 Question Id : 64635023481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-
“fféren fifet’=s gerrem oTow 999

(1) wrerpmn

(2) T
(3) HameE

(4) I
Options:
E4E250321E67. 1
EAE25032168. 2
E4535032169. =
64535032170 4

Question Number : 59 Question Id : 64635023482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T F GIEE AR

(1) e =0

(2) 9«9 A fag

(3) gz g’
(4) TR A

Options:

64535092171, 1
4835032172 2
4535092172 2



EAE35092174. 4

Question Number : 59 Question Id : 64635023482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T F HES SATR

(1) g @
(2) e TR 68

®) g w
(4) FOTHTA A

Options:

64535092171, 1
64535032172, 2
64535032173, 2
E4E350392174. 4

Question Number : 60 Question Id : 64635023483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT A

(1) =wemmz

(2) IT=E

(3) e

(4) bR

Options:
435092175, 1

E4E3509217E. 2
EAE35032177. 3
B4E35092178. 4

Question Number : 60 Question Id : 64635023483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T-aTEt A

(1) =endmz

(2) 3IT=9E

(3) =ch

(4) ufEER

Options:
64535092175, 1



EAE350392176. 2
BAE35092177. 3
64535092178, 4

Question Number : 61 Question Id : 64635023484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TS HeI e BiY
(1) w= g
(2) WmHE
(3) fawamy

(4) SFea

Options:
435092179, 1

E4E35092180. 2
E4E35092181. 2
BAE3509218%2. 4

Question Number : 61 Question Id : 64635023484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TS HeI Fa B
(1) w= g
(2) WHE
(3) fawamy

(4) SFed

Options:

64835092179, 1
45350921280 2
64535032181, 5
4535032182, 4

Question Number : 62 Question Id : 64635023485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et g for

(1) e wers

(2) T TH

(3) =T TISTR

(4) ST



Options:

64535092183, 1
48350392134, 2
4535092185 2
645350321586, 4

Question Number : 62 Question Id : 64635023485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘egeafd’ g for -
(1) ==z T

(2) T ETH

(3) T TEISH

(4) =TT

Options:
4535092153 1

E4E35092184. 2
E4E35092185. 3
B4E535092186. 4

Question Number : 63 Question Id : 64635023486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
EENEE FEd Ta A

(1) = aeoe JE8T

(2) T g TET

(3) =T WASHS THT

(4) =T 9 TET
Options:
645350921871
E4AE35092188. 2
64535092189, 3
64535092130, 4

Question Number : 63 Question Id : 64635023486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T F R = A oo B o e |
(1) =y Aors gE@T
(2) =T TS TE

(3) HTET TS TEHT

(4) =T HEF TET
Options:

64535032187, 1
64535032188, 2
64535092189 2
645350921490, 4

Question Number : 64 Question Id : 64635023487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Wﬂﬁf\?ﬁ:

(1) wgrehETH
(2) WISHI=Tsh
(8) %U<k

(4) JIEThh
Options:
64535032191, 1
64535032132 2
64535092193 2
64535092134, 4

Question Number : 64 Question Id : 64635023487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TRt g o

(1) vzmERETS

(2) TUSHETH

(8) ¥

(4) JTETHRE

Options:

64535092191, 1
E4E350392192. 2
4535092192 2
64535022194, 4

Question Number : 65 Question Id : 64635023488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

e ‘ﬁa ﬁl‘m“ :
(1) et
(2) T+

(8) T
(4) SreEsIfRds

Options:
45250921951

E4E350921396. 2
B4E35092197. 3
645350921398, 4

Question Number : 65 Question Id : 64635023488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST ‘ﬂa ﬁl‘m“ :
(1) et
(2) W

(3) TR
(4) Vegwiioae®

Options:

4535092195, 1
64535092196, 2
64535032197, 2
64535032198, 4

Question Number : 66 Question Id : 64635023489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T e o

(1) s
(2) BT
(3) wiucEsh
(4) YIRS

Options:

64535092199, 1
64535032200, 2
64535032201, =
64535032202, 4



Question Number : 66 Question Id : 64635023489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T e i

(1) s
(2) T
(3) wfiweHes
(4) YIHS

Options:

4350921499, 1
4535092200, 2
64535092201, 2
64535032202, 4

Question Number : 67 Question Id : 64635023490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ffem vaq forz gaaz fea
uférrer 9o eTEfEmr

t{%ﬁwa@;
(1) zgm
(2) Ieuem
(3) srfasmifE
(4) fTorsmifea

Options:

64535092203, 1
E4E350392204. 2
64535032205, 5
64535092206, 4

Question Number : 67 Question Id : 64635023490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(4) faumifda

Options:

64535092203, 1
64535032204, 2
64535032205, 2
E4E35092206. 4

Question Number : 68 Question Id : 64635023491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TN IO STTH STerE 2d o1 -
(1) wwmeEfea
(2) fasmitaa
(3) 3J9HI1
(4) T
Options:
4535092207, 1
64535092208, 2

B4E535092205. 3
64535092210, 4

Question Number : 68 Question Id : 64635023491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

JTHIH JTATTE SATH TSR BNEa 2AfD
(1) momifea
(2) fasmitaa
(8) I
(4) FT%

Options:
EAE2E092207. 1



EAE350392208. 2
B4E535092205. 3
BAE35092210. 4

Question Number : 69 Question Id : 64635023492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘mfarft <8 s fFETEe et

(1) a—g-F-m-m
Ly T B (O,
(8) I-A-T-W-A-W-T
() W= —Ffg =T

Options:

64535092211, 1
64535032212, 2
64835092212 2
4535092214 4

Question Number : 69 Question Id : 64635023492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘et sen Tt e wn s
W =il ==
T e T - N
) g s e S e B
) M-

Options:

64635092211, 1
E4E35032212. 2
64535032212, 5
4535022214, 4

Question Number : 70 Question Id : 64635023493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘T’ Del avieh Wl Biga A1
(1) azmes
(2) &H

(3) =&
(4) @R

Options:

64835092215, 1
4535092216, 2
64535022217, 5
4535032218, 4

Question Number : 70 Question Id : 64635023493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ITTecd’ Tegh Aviek WEat 2iga atfis

(1) ams

(2) <A

(8) =@

(4) WeR

Options:
64535092215 1

E4EZ5092216. 2
EAE350392217. 3
B4E350922158. 4

Question Number : 71 Question Id : 64635023494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘TR fagra offe
(1) eafy fteriwes
(2) 99 qfiEdT®
(8) WTNIEATI
(4) 1 qfEE®

Options:

64535092219, 1
64535032220 2
64535032221, 2
E4E35092222. 4
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Correct Marks: 2 WrongMarks: 0

‘TR g offe
(1) eafy vitas=s
(2) o qfiEsT®
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(4) e qiEES

Options:

4535092219, 1
64535032220 2
64535032221, 2
64535032222, 4

Question Number : 72 Question Id : 64635023495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tiecas TR foen s’ — 3t fore -

(1) fipedss
(2) TYE oH
(3) WU HFEE

(4) THTY HATH
Options:
435092223 1
64535022224, 2
64535032225, 5
64535032226, 4

Question Number : 72 Question Id : 64635023495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hiecas i T amn’ — 3t o -

(1) firrda=s
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Options:
64535092223, 1
E4E35092224. 2
64535032225, 5
4535092226, 4



Question Number : 73 Question Id : 64635023496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Afiefter It a1 s

Options:

64535092227, 1
64535032228, 2
E4E35092229. 2
64535092220, 4

Question Number : 73 Question Id : 64635023496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

Afiefter It a1 s

Options:

64535092227, 1
64535032228, 2
48350392229 2
4535092220 4

Question Number : 74 Question Id : 64635023497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
e’ EES
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Options:
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EAE35092232. 2
BAE35092233. 3
BAE35092234. 4

Question Number : 74 Question Id : 64635023497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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Options:

64635092231, 1
E4E350392232. 2
45350922232 2
64535022224, 4

Question Number : 75 Question Id : 64635023498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(2) wwd
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(4) fodert

Options:

64535092235, 1
64535032236, 2
E4E350392227. 2
64535092228, 4

Question Number : 75 Question Id : 64635023498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
F W= fore
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Options:

64535092235, 1
4835032236 2
E4E35092227. 2
64535022228, 4
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Correct Marks: 2 Wrong Marks: 0
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Options:

4535092259, 1
64535022240, 2
64535032241, =
64535032242 4
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‘Toerrferehl’ seft fore
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Options:

64535092239, 1
4835092240, 2
4535092241, 2
4535022242, 4
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535092243, 1
4835092244 2
E4E35092245 =2
4535022246, 4
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Options:
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E4E35092245 =2
4535022246, 4

Question Number : 78 Question Id : 64635023501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TMerte weg fore -

(1) e

(2) YSTETH

(3) =TATH

(4) doE

Options:

64535092247, 1
64535032248, 2
64535032249 =
64535032250, 4



Question Number : 78 Question Id : 64635023501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mgt wee fire
(1) Hfdrchin
(2) USTETR
(3) TATH
(4) TR

Options:

64535092247, 1
64535032248, 2
E4E35092249. 2
4535092250 4

Question Number : 79 Question Id : 64635023502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e wea It S A
(1) srem
(2) TATTATH

-

(8) w&=hdd
(4) TEH

Options:

4535092251,
4535092252,
64535092253,
64535092254,

o LI M

Question Number : 79 Question Id : 64635023502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e Weg It S A
(1) i
(2) HATTCIH

-

(8) H&had
(4) TG

Options:

648350922511
E4E35092252. 2
64535022252,



EAE350392254. 4
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Question Number : 93 Question Id : 64635023516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘anratel ot fer s shm-sen STl § afe 1o

(1) g zomR
(2) UHEE TS
(3) e TS
(4) =UFTH

Options:

64835092207, 1
4535092208, 2
64535022209, 5
64535092210 4
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645350924587, 1
4835092488, 2
4535092489 2
64535022490, 4

Question Number : 138 Question Id : 64635023561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
oy SrEt’ =l gr wvia et
(1) Had
(2) T=gmmEn
(3) famsi
(4) e

Options:
4535092487, 1



EAE35092488. 2
B4E35092485. 3
645350924350, 4

Question Number : 139 Question 1d : 64635023562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TS a M 92
(1) F=rme =
(2) T=Mg
(8) F—=T1g =
(4) whifcTr =

Options:

4535092491, 1
64535092492 2
64535032493 =
64535032494 4

Question Number : 139 Question 1d : 64635023562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TS a M 92
(1) F=rme =
(2) T=Mg
(8) F—=T1g =
(4) whifcTr =

Options:

4535092491, 1
64535092492 2
64535032493 =
64535032494 4

Question Number : 140 Question 1d : 64635023563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fegsrs =y A SEd o9

(1) FoTe L THTH FTeml

(2) forere gmam fagm’
(3) =X At
(4) Sieig AT 3



Options:

64535092495, 1
4835092496 2
4535092497 2
64535022498, 4

Question Number : 140 Question Id : 64635023563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fegsnes T A SEa 9y

(1 FTel A FTIml

(2) forere gmEEr o
(8) =M afima
(4) Torg AT o

Options:

64535092495, 1
64535032496, 2
64535032497, 2
4835092498 4

Question Number : 141 Question 1d : 64635023564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Y e Fam et

(1) 19707
(2) 19717
(8) 19724
(4) 19737
Options:

E4E350924595. 1
E4E350392500. 2
E4535092501. 3
B4E53509250%2. 4

Question Number : 141 Question 1d : 64635023564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g 7 e et

(1) 19707
(2) 19717
(3) 19727
(4) 19734H
Options:

E4E350924595. 1
64535092500, 2
64535092501, 3
645350392502, 4

Question Number : 142 Question Id : 64635023565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

rETaET R AEE DY

(1) grem 3R

(2) o= = e’
(3) T @
(4) e a8

Options:
4350392503 1

E4E35092504. 2
E4E350392505. 3
EAE35092506. 4

Question Number : 142 Question Id : 64635023565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TeETaE=T w1 aEE DY
(1) tmt«ﬁaqw
(2) g el
(3) T =
(4) Tme faE

Options:

64535092503, 1
64535032504, 2
648350392505 2
4535092506, 4



Question Number : 143 Question Id : 64635023566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o o T Bty
(1) moe=s
(2) ITITHER
(3) HTEhahlt
(4) TETHIRN

Options:

64535092507, 1
64535032508, 2
64835092509 2
4535092510 4

Question Number : 143 Question Id : 64635023566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 3 T Bty
(1) moE=s
(2) ITITHEER
(3) HTEehehlt
(4) WETRSTRT

Options:

64535092507, 1
64535032508, 2
64535032509, =
48350925104

Question Number : 144 Question Id : 64635023567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“wrrmen fae=a"E dus iy
(1) favazan firx
(2) T g
(8) TG meltal
(4) TIvaR &

Options:
64535092511, 1
64535032512, 2




EAE35092513. 3
B4E535092514. 4

Question Number : 144 Question Id : 64635023567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ArEmen faa=T's dus 3y
(1) favawar firx
(2) T g
(3) W3 At
(4) Tomat @

Options:

64535092511, 1
64535032512 2
64535032513 2
64535032514 4

Question Number : 145 Question 1d : 64635023568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
migen U

(1) yomE

(2) i

(3) R

(4) wfFTa

Options:

64535092515, 1
64535032516, 2
E4E350392517. 2
64535092518, 4

Question Number : 145 Question Id : 64635023568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
migen o

(1) gopnfa

(2) wefera

(3) Siprra

(4) T



Options:

64535092515, 1
4835092516 2
4535092517, 2
64535032518, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501159
Question Shuffling Allowed : Yes

Question Id : 64635023569 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension

Fraferfaa Tensrs sqagds g 3R greg Fearaclie I oal o
FlaTeTd aa (FAHeT) & 59 FE

Ufe AW WEH Hiemgdd gau g gfew et | ges-geat Ae e
sz <hfem ames omerd | 2 § feg AfE vea | T TeRE T
g gHS 7 WA S FHag A0 T R SR AR HE 2
Iog P TAW: TIH AER WS TA AD | FUE A S TeIE
=feash FUH d9 B @ SEH 9 BY S 9 || 99 Hife
@A 7 | AN HE Hearh BT Weg 954 gL A T FAS 7 S
aME Ud e foN ara-asTh o digars diwen wegr SR
FES A, HURE EU AAACiR(h  Sie-SUcH  HiaEd  3AiE
VU AR IR 9 Ta P | AR SH-HGh 7 SEH
o, 7 i 9w, T [E-Ueane T | IEE W 9rg-agHE
HATHFRAT AF< FTRIHR Htd Tl gra-agHisl 97 [ s
STET g B g ST qe 9 T S | HE S o Hi
%5 HEIN &S Ia1 e @5 93 aifg fa=mm 79 ame aAfs | ad
I a7 9 aE ST SYRW A FEhATRH -3
ATM-EAATH Foleh o B9 Alfg-alite 311 I H39 q Fes ¥ db
Al S5 | 97 2 29, 9 A A@l q 97 o FuwhchE
TCHTEHRA AYH TRH S 313 IgTH JoF ®id ara-agd gt o
=iz Oy 90 AT e SEY s S B 9 |

Sub questions

Question Number : 146 Question Id : 64635023570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) ore sfed
(2) o ST
(3) o HiEe
(4) 9T7h TR
Options:

64535092515, 1
64535092520, 2
64535092521, 3
EABE35092522. 4

Question Number : 147 Question Id : 64635023571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aled Ed 39 -

(4) 9Fh
Options:
64535092523, 1
4835092524 2
E4E35092525 2
64535032526, 4

Question Number : 148 Question Id : 64635023572 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST 9T F7ed B

(1) arzm ofy

(2) eragfas Sfesue
(3) HIcger At
(4) o1 FH 9N

Options:
E4E25092527. 1

EAEZ509252E. 2
BAE35092529. 3
B4E535092530. 4



Question Number : 149 Question Id : 64635023573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y I q9T 90 T BT

(1) Fr=if=re
(2) rmfae
(8) HTTAEHE

(4) “I-9JehTeh

Options:

64635092531, 1
4535092532 2
64535032522, 5
64535092524, 4

Question Number : 150 Question Id : 64635023574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ty W AT B9 U9 hid B9 -
(1) graasd

(2) TEY -
(3) S —du

(4) el — Zaa
Options:
64535092535, 1
64535032536, 2
64535032537, 2
648350925328 4

Question Id : 64635023569 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension



TlawcTd el (19cT) & T FE

Ufe HEMW WeH Hremgdd gad g gy et | ges-geat Ae 31
stz <ifem ames e | 2 § feg fe wa | T TR T
g a5 B e S Fag S0 T H TR S HETE B
Yog FH TAE: Tk A NS WA RS | oTNE WE W TR
=feA® AN I FY W AMGH = T S GOHF HE AR HE
wA A | HAN: HH Hearh LT ey 954 g AR TN gAS W s
A Td TS TGN OTE-aEn o dlgarh e IRl HreR
s A, HUfR WU enmfqerRte Siesucs wiawa
HiWUraTh  SIAR 9ER T BA DA | Al -Gk 7 SISH
famar, 3 m® 97, T @E-Ueds 99 | I A 9-agHie
WACHTNT A< FRER Hd @A gr2-aafiel 09 W a5
STET ¥ B g S qe 95 T D | HE S 3w
%5 HE &S Ia1 T a5 A3 dife fa=mm 89 ame Afs | 9y
I 91 9t 9% ST AN o FERARH  SAO-9T
AT Felh g 79 wlfe-allg Al I T3\ 34 Fes H
At s | 97 2 2N, 97 o A@rd qu 97 S FuERE
TIFHTEETTA A9 TRAH S 313 9g89H Jo i ara-asft i o
ZME OF O A 9E TE9W s S B/ 91 |

Sub questions

Question Number : 146 Question Id : 64635023570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHH I 1Y Fed oA

(1) ores sieh
(2) o SR
(8) o Hime
(4) 9T TR

Options:

64535092519,
64535092520,
64535092521,
E4E35092522.

[ N

Question Number : 147 Question Id : 64635023571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Aled A5d DA -

(4) oreh
Options:
4535092523 1
64535032524, 2
64535032525 2
64535032526, 4

Question Number : 148 Question 1d : 64635023572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST 9T T BA

(1) sr=w ofd

(2) egfae SeSTe
(8) HieEa i
(4) 1 B 9

Options:

64535092527, 1
64535032528, 2
64835092529 2
4535092520 4

Question Number : 149 Question Id : 64635023573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y I q9L 90 T B

(1) sH-=femeh
(2) @afas
(8) HTIAEHH

(4) TTI-9Th
Options:
64535092531, 1
64635092532, 2
64635092533, 5
64635092534, 4



Question Number : 150 Question Id : 64635023574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y T AT Y gE9 Fiid 99
(1) grzagd

(2) TR -
(3) TH —d=

(4) et — 2=
Options:
64535092535, 1
64535032536, 2
64535032537, 2
45350925328 4



